Mcoz,cs > MCOZ,CS,c,declared

A A
|
Declared value available which can
be used for comparison for both
' - Type Approval value
Charge Sustaining Test - Conformity of Production value

(Homologation)

Remark:

AFo, s not necessary as after finishing all
calculations,

the value for used for comparison in COP is always:
MCOZ,CS,C,decIared

=> Current text can be simplified

= With and without A.¢o, s: the result is the same

1

Charge Sustaining Test
(cop)

—

—

Mcoz,cs

o

Mcoz,cscop = Mcoz,cs X EVC
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Speed (km/h)

Speed (km/h)

135
115
95
75
55
35
15

135
115

ECaccp

M MWMWM

-

Charge Depleting Test
(Homologation)

!

AERgEsswLTC1

ECpcwrrca = dwire
1

Only first cycle of Charge
Depleting Test
(cop)

!

AERgEsswLTC1
ECcop= —F5———

dWLT C1

v

ECpcwric is a value especially created for COP to
avoid a high mileage on customer vehicles

ECpcwric is @ measured value

For COP, there is no declared value available which
can be used for comparison; measured COP value
would need to be compared to the measured value

unequal treatment
Idea:

Applying the ,,margin“ which is on the declared
value “ECpc cp geclared t0 the value which has been
created for the purposes of COP

[
|

ECAC,CD,declared

) Next slide
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Speed (km/h)

Speed (km/h)

Solution:

135
115
95
75
55
35
15

135
115
95
75
55
35
15

ECaccp

> l—':CAC,CD,declared

[

1M /i M F ‘W’l"i ‘lh‘ I‘ .'“ ) | ]ml Jl 'M' APy = “ gD

Charge Depleting Test
(Homologation)

ECaccp

!

AERgEsswLTC1
ECpcwrrca = R
WLTC1

o TS

OnIy first cycle of Charge
Depleting Test
(cop)

!

AERgEsswLTC1
ECcop= —F5———

ECpcwrrc1 * AFacep = ECpc,cop

Now a “Declared” value available which can be used for
comparison Conformity of Production value which follows the
principal in the context of CS CO2

= Measured COP value would be compared to a ,declared” value

dWLT C1
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